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CODE |VIII | I |13

uSGleusir | ~ 9
Roll No.

5

2|5 2|40

Time : 90 Minutes

PART -1: MENTAL ABILITY TEST
(For Student of Class VIII)
Max. Marks : 90

INSTRUCTIONS TO CANDIDATES
Read the following instruction carefully before you open
the question booklet.

L
2.

Answer are to be given in the OMR answer sheet .

There are 90 questions in this test. All are
compulsory.

Choose the correct answer from the options given for
each question and darken the corresponding circle

- with blue / black ball point pen in the OMR answer
sheet.

Since the time allotted for this question paper is very
limited you should make the best use of it by not
spending too much time on any one question.

If you do not know the answer to any question, do
not waste time on it and pass on to the next one. If
time permits, you can come back to the questions,
which you have left in the first instance and attempt
them.

Rough work can be done anywhere in the question
booklet but not on the OMR sheet / loose paper.

Every correct answer will be awarded one Mark.

Please return the OMR Answer sheet only to the
invigilator after the test. You can retain the question
Booklets.

English version of the question paper will be
considered as final in case of any dispute arising out
of variation in-translated version.

10. Quote your seven digit Roll number without fail for

any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING
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suflpeom (eflerm stedar. 1 (a6 6 ausny)

Sparemin  efemsefled  eewmmet  /
TWSGST @ GOMUILL aNSufsrig
auflsiu@Ssiu’ Gerarar.  CastaildEm
(7)) @Liuc@ster @ sHe  sfwuns
Qurmiss  &vgw  aememileer  /
TusHmar Qer@&siu Gster 4 Lmhm)
oflen_sefledlmiag CaihOsH&saL.

1. 9,28, 65,2, 217, conriches 1.
1) 126 2) 115
\/3*) 116 4) 124
2. 1,2,6, 24, 120,720,?...... 2.
1) 5004 2) 5040
3) 4040 4) 3040
3. 36,4,18,8,9,16,? ......... 3.
1)18 2) 32
9
3)8 4) -~
) ) 5
4. A26, B25, .......... ? 4.
Nz 2) Y1
AN Z1 4) 726 »
5. 5,7,12,19, 2, 50, ......... 5.
1) 30 2) 31
3)18 4) 26
6. A, ABECILD ME,? 6.
HE 2)F
3)B HQ
auflsom (aflsrm sTever 7 Lommid 8)
Garh&s0ulHsTer GQgm_ifle Hev

TWSSSST  afGUBsToTEr.  9|SHEmeTTE
Garggl G@sm_fener IS SHT60
ITSS(LpsTeT Qsm_grs S|EOLOILLD.

LOTADITE L L2 Lommgy
aflenLseaflefimig CoHMEOSHEES:

7. __bbcee __ _ ddeeee 7
1) bede 2) bece
3) acde A adde

8. X26 __ 25K __ _ J10 __2A 8.
1) Y12 B2 A Y11B1
3) Y10B2 4) Y11B2
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Direction (Question 1-6)

In each question, the numbers / letters
are arranged in a sequence based on
certain principle. Select the answer
from the four alternatives given under
each sequence for the term marked by
the symbol (‘?)

9,28,65,?,217, .........
1) 126 2) 115
3) 116 4) 124
1,2,6, 24, 120,720, ......
1) 5004 2) 5040
3) 4040 4) 3040
36,4,18,8,9,16,7 .........
1)18 2) 32

9
3)8 s
) )2
A26, B25, .......... ?
nZ 2) Y1
3)Z1 4) 226
5,7,12,19, 2,50, .........
1)30 2) 31
3)18 4) 26
A, A,B,E,C 1,D,M,E, ?
1)E 2)F
3)B 4)Q

Direction (Question 7 and 8 )

Some of the letters are missing which
are given in that order as one of the
options given below. Select the correct
option.

__bbcee __ _ ddeeee

1) bede 2) bece

3) acde 4) adde
X26__ 25K__ _ J10__ 2A
1) Y12 B2 2) Y11B1

3) Y10B2 4) Y11B2
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auflpenm (eSleor ster. Y 360 1 eusniy)
SPESTEYND  UDTULEISST  sTsvoTasemmed/
TWSSISSTTR @I L afluflsring
JiLESILL HsTerg). Garésiuc L
oflomssefld ?° @Buf i L @_smg
Beomey Qainyd sTevor svflsmenr /6105 lemen
Coib0s0ss

7 146 ?
L 33 7 83 2 38

1) 116
3) 114

2) 118
4) 112

. G v R
A C P R L N

LHT 2)s
3)U 4Hv
4 10 6 12 ?
7 19 11 23 | 29
113 2)15
316 417

aufipsnm (@Sleorm erstor. 12 wsed 15 ausny)
eauGlaum(, aflsrmaiignd Gamgl L
QL sSmer Qar@ssILC Reter 4 W)
aflw.sefsllmig CoMmEs05s Hamey
Qi Coustor@ud. *: :* et @GS (s
Yoot @@ amismssst  Qgm_iy

LESsIL_ReTerg.  oEs Ggmiy
SirSlusdls@id auenaullsh *: :* sreirm

G ieHE Nsbrevri SjemLoLD
UM SEMSS(EHLD Zjemiow GaussarBiLd.
Operator : Machine : : -—-—-- : Driver
1) Captain 2) Ship

3) Aeroplane 3) Bus

16:P:: e - W

1)22 2) 23

3)21 4)20
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12.

13.
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Direction (Question 9-11)

The diagrams and the numbers
letters follow certain principle. Fin
the missing number / letter indicate
by question mark (‘)

72 146 ?
18 R 7 8 7 K|

1)116 2)118
3)114 4112
& Vv R
A C P R L N
T 2)s
3)U 4V
4 10 6 12 ?
7 19 11 23 29
113 2)15
3) 16 417

Direction (Question 12-15)

There is a blank space in Question
12-15,"in which only one of the four
alternatives given under satisfied the
relationship as is found between the
terms on the other side of the sign *: 2’

Operator : Machine : : ——--- : Driver
1) Captain 2) Ship

3) Aeroplane 3) Bus

16:P:: et W

1) 22 2)23

3)21 4)20

www. learnerkey.com


http://doozystudy.blogspot.in/

www.learnerkey.com

www.Padasalai.Net

DOOZ ZY STUDY

14. 15:224::12 : -

) 225 2) 243
3) 145 4) 143
15. Girl : --———-------: : Boy : Handsome
b Smart 2) Tall
3) Fair 4) Beautiful

suflpenm (aflsrm erevor. 16 — 24)
Spsramid cfammésEnéo sl Gurmsstomer
afamLflsner Qar@&stu_(Hearer 4 wrHOI

aNen_safldlmig CaMmosBiésan
16. ‘Ring’ eretrug) ‘gold’ erafled ‘Chair’
STEITLIG)
¥Wood 2) Paper
3) Table 4) Bench
17, ‘TROPHY’ eretrugy ‘Sports’  erefled
‘DEGREE’ srstrug
1y Examination  2) Convocation
) Education 4) Paper
18. s, psG, CsT Sy BweuhiL s
Qam_imeL g
1) @i 2) pisoruSiyed
.3 eng 4) s66dT60

19. Qar@ssiu L 4 aurigmssefis
Qam_iudpsTs Sjmuyh AIMESmS

Jserefungiofl 2) GamubLSGmT
3) SeEatusd  4) STESI6Gy
20. Qar@ésiurL 4 samsefie Ggm b
6T6BaT
1)25 2) 81
M 96 4) 256
21. QarH&siucL 4 i S & 6fled
QsM_fLDPSTS JjELLLD AIMTSMS
1) Talking 2) Speaking
3) Smelling A4 Crying
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14.

15.

16.

17.

18.

19.

20.

21.

15:224::12 ¢ -

1) 225 2) 243

3) 145 4) 143

Girl : -=--——---—--: : Boy : Handsome

1) Smart 2) Tall

3) Fair 4) Beautiful
Direction ( 16 -24)

Identify the most appropriate

alternative among the given four
alternatives

If ‘Ring’ is related to ‘gold’ then
‘Chair’ is related to

1) Wood
3) Table

2) Paper
4) Bench

If ‘TROPHY’ is related to ‘Sports’
then ‘DEGREE’ is related to

2) Convocation
4) Paper

1) Examination
3) Education

Which of the following is connected
with eye, nose, skin?

1) Heart 2) Lungs

3) Ears 4) Liver

Choose the word which is least like
other words.

1) Kanyakumari
3) Tirunelveli

2) Coimbatore
4) Tuticorin

Choose the number which is different
from others.
1)25

3) 196

2) 81
4) 256

Choose the word which is different
from others.
1) Talking
3) Smelling

2) Speaking
4) Crying
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23.

24.

25.

26.

DOOZY STUDY

P*Q erstrudled P sretrusuii Q-eflggienLu
LY

P+B ereirudler P erairusui Q-6r Losmemral]
A+C*B sretrugM@ QUGS Lomeer

& !

1) A srsorueur B-ufleir gyibiom

2) B erstrusui A-uflstr Logsi

3) A stsorusuii B-uflsir 95608

4) A erssrusurc B—uflsir sGamgifl

@ euwsmar Crréd g Gue “He is
the son of, the only son of my
grandfather” eTeurd & fhleormed
SNIQUsTTERAHE SifbS TLILET ET6ITeT
2 me).

1) 8Cansifl
3) &

2) s@ama s
4) BH0S

86 GEILSHD GHIUSSDVMT SIS
wemeTedl, 3 LGETSET LHMID JEUTHTE)
LosmeoT e ILI(HLD D|LTBIG 6. GuogyiLh,
eaQarm WsSESED 3 LOGETSET LOHMILD
@reir® ST o eemeori - ereufled
SEGOOUGHR 2 eTar &y etor & 6fletT
eT6u0T6uu1 568
1

3)13

2) 18
4)21

auLflpem (eflsorm Tetor 25 i 26)
p,q,r,s%éﬂm4minrass'np+q>r+s; P

+r=q+swhgd p = —12— (q + s) steofle0 25
WHyd 26— eEMESEHES afleoLweflés.

4 sretorgefisy Quifiw sTegor 6751

Dp 2)q
I)r 4)s

Cupss_ (@ pHmasefle T& O
gflwrer s.MHm ?
1) ptq <rts

)p#T

2) ptr#qts
APp*q
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22.

23,

24.

25.

26.

If P*Q means P is the father of Q
P+B means P is the wife of Q then

which of the following statement is

true for A+C*B

1) A is the mother of B

2) B is the daughter of A

3) A is the aunt of B

4) A is the sister of B

Pointing towards a boy, a woman said
“He is the son of, the only son of my
grandfather”. How is that boy related
to the woman?
1) Sister

3) Son

2) Brother
4) Father

A family has a man, his wife, their
three sons and their wives. The family
of every son also has 3 sons and two
daughters. The total number of male
members is

111
3)13

2) 18
4)21

Direction (Question 25 and 26)
P, q, I, s are four numbers such that
p+tq>r+sand p +r=q+s. Further

p = % (q + s) then answer the

questions 25 and 26

Which number is largest?

Ip 2)q
Hr 4)s

Which of the following statement is
correct?

1) ptq <rts
Hp=#r

2) ptr#qts
4p#q
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auflpenm (aSler sretar 27 — 29)
QarhH&siu’_Herer & 5616086061
S6UETLONS Uig&gl 27 S0 29 susnyuileomsr
olleoTé s EhéE el weflésan

27. A gyareui B-g efl. 2 wmb; C sy emeuri A-
o efl. @ereromeraut ; D gy ereur E-gm
ofleoL o wmomeTeut  gyermsd B-gmy efl

@6TerLomeuTeuIT sTeufle @eursafls
(G6TemLomsaTeuIT

HE 2)B

3)C 4D

28. 6 sULiutsusds P, Q, R, S, T
S HCWMT Hevkg QameimLsmi. P gpsoreut
Q-6@ yorargrEald gueme  R-&@
Aerergraand aumSnmT. S gyeraui T-5@

yarmgnaal Q6@  UeTargrsa
amAom  aafld  upsuSSn  Gaubibl
Quimeut

1P )T

3)R 4)8

29. R 6 CuiiusufiLib 25 Sy HiseT
o gremsor. “All but fifteen died” eresfled

B peer gy, Bseleir eratomsmflsome
115 2) 25
10 4) seTSHSL @eng)

suLflapemm (eflewrm etegor. 30 WHev 34 euson)
QaMR&EIL L (SIRmnsEnsHE 2L u-@
ofleorm  ereor. 30 (s 34 euemy
afsoLwefl&sajL.

A, B, C, D, E, F g &Gumt Ul L
augefldd gyoigererant. B gyereud F
hmth C-5@& @emLufigud ; A gyereuri E
whmh D-&@ @eoufigud : F gyemeud D-
5@ @LUILGSSSRID IoikgeTere

sTevflsb
30. A-&@i F-@h @smLullsd ojoikgismemeur
1)D 2)B
3)E 4)C
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27.

28.

29,

30.

Direction (Question 27 - 29)
Read the information carefully and
answer the questions 27 to 29.

If A is taller than B; C is shorter than
A; D is taller than E but shorter than
B then the shortest person is

DE
3)C

2)B
4D

Five boys P, Q, R, S and T took part
in a race. P finished before Q but
behind R. S finished before T but
behind Q. The person who won the
race is

)P
3)R

2)T
4)S

A shepherd had 25 sheep. “All but
fifteen died” the number of sheep left
with is
1) 15
3)10

2) 25
4) Can’t be determined

Direction (Question 30 — 34)

For the given situation, answer the
questions 30 — 34

Six persons A, B, C, D, E and F are
sitting in a circle. B is between F and
C; A is between E and D; F is to the
left of D.

Who is between A and F?
HD 2)B
3)E 4)C
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31.

32.

33,

34.

35,

36.

37,

DOOZY STUDY

B-5@\ C-5@Lb @emLufls) oihgismemeur
A 2) sreu(mLblsbeme
3)D 4)E

E-5( aueoliuSaLD SLoiThSleTemeurt
1)A 2)B
3)D 4)C

F-5@ @SS oibgleTemeurt
1)B 2) A
3)C 4D

B-5© @LUu&&0D SjiThgeTemaur
1HE 2)D
3)A 4)C

auflpsom (e sTeior. 35 (P60 39 eusmN)
SPeTEmId UL SSE06T SHeIETLITE U &8
35-39 susmISeumenT A EG)
afsoLwefl&SaD

QEsuaISID — 2 WITLOTEaTaUIT
aul Lt — eflememum’_ (B el
(p&Camemnid — ojfley S ffenlo o 6remeult

2_Wrmm |6 & TemLo @leveors
eSflememum’_® eSyiaefler eTetorsuoflonas

1)24 2)s1

3)43 4) 16

o wipomesr eflemsmum’ ) aSTT 67&Semenr
Gur?

1)8 2) 19

3)30 4)21

o wioTeT Sfleyda TenLn 2 66T
efememum’ @ el sr&gensor Guit ?
13 2)9

3)8 4) 30
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31.

32.

33.

34.

E -

36.

37.

Who is between B and C?

DA 2) none
3)D 4)E
Who is right of E?

DA 2)B
3)D 4)C
Who is left of F?

1)B 2)A
3)C 4)D
Who is left of B?

HE 2)D
3)A 4)C

Direction (Questions 35 — 39)
Study the following figure carefully
and answer the questions 35 —39.

The rectangle represents tallest;

The circle represents sport persons ;
and the triangle represents intelligents

Y7
<X/

tn

[
1]
w

40 .

The number of sport persons who are
neither tall nor intelligent, is

1) 24 2)51
3)43 4) 16
The number of tallest sport persons is
1)8 219
3)30 4)21

The number of tallest intelligent sport

persons is
1)3 2)9
3)8 4) 30
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38.

39.

40.

41.

42.

43.

DOOZY STUDY

aflememum_(H  efiseT  gevens  ifley

S lTEOLOWIDHM 9_1LLomesTeuIt & 6rflear
eTeT S ema

1) 40 2) 76

3) 67 4) 46

o wiyomer ifleeTeTauTaeT 6T&Semear GLIF

1) 30 2)3
3)6 4)9

suflpenm (aflewr eretar. 40 (pS6v 44 eueniy)

Sparggd  HuESmaTSER&EE 2 LUl®
40-44 ouenflorar  eNEMSSEHSE
aflenL_weflGEayn

‘WISH YOU ALL SUCCESS’ ststtLg)
‘YKUJ AQW CNN UWEEGUU’
steor 2 eurdasiu_Lme “YOU CAN?
sTeTUGST @neormd eumigemgullesr 3-
UG TPSHIT 2 HEUTSEHLD

1)Q 2) P

3)0 4R

‘CHENNAI’ eretrugy ‘DIFOOBJ’ 6réur
o meauméaiu’ L) ‘MADURAI eT6ug s
2 (HEUTSELD

1) NBEVSBJ
3) MBEVSBJ

2) NBDVIBJ
4) NBEVSBK

1917211185  erear
‘RECTANGLE’

‘SQUARE’ eTsiTUg)
2 (mEuTSSILL L6

STETLIG 60T 2_(EUNTSSLD
1) 1753201147125 2) 1853201147125
3) 1953201147125 4) 1853201114126

‘YOU’ srebrussir 2 meundasid 60; ‘HE’-6or
o maurssih 13 ; ‘SHE -1 2 maurdsi
32 sraufied ‘ME’-6ir 2 (Heun&sid

1) 16 2)19

3)17 4)18
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38.

89,

40.

41.

42.

43.

The number of tallest persons who are
neither sport persons nor intelligent, is

1) 40 2)76

3) 67 4) 46

The number of tallest intelligent
persons is

1) 30 2)3

3)6 49

Direction (Question 40 — 44 )

For the given situations, choose the
appropriate option for the
questions 40 — 44

If “‘WISH YOU ALL SUCCESS’ is
coded as ‘YKUJ AQW CNN
UWEEGUU’ then the code of the
third letter of the second word of
“YOU CAN” is

HQ ' 2)P

3)0 4)R

If <‘CHENNAI is coded as

‘DIFOOBJ’ then ‘MADURAI’ is
coded as \

1) NBEVSBJ 2) NBDVIBJ

3) MBEVSBJ 4) NBEVSBK

If ‘SQUARE’ is coded as
1917211185’ then ‘RECTANGLE’ is
coded as

1) 1753201147125 2) 1853201147125
3) 1953201147125 4) 1853201114126

If ‘YOU’ is 60; ‘HE’ is 13 and ‘SHE’
is 32 then ‘ME’ is

1)16
Yy

2) 19
4)18
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‘PHYSICS’ srétrug 11+19+2+8+18+24+8
stefiso ‘HISTORY’ eT6oTLIS;

1) 19+18+8+12+9+2

2) 19+18+7+12+9+3

3) 19+18+7+12+9+2

4) 18+19+7+12+9+2

suflpsom (@flsor eTagor. 45 (s 50)

SPSSTEYILD CUEDTLIL IS geflsgeflurs 3
o miysaflar QBM_LEmeTs QamevorLgl.
ouGaur shermeligid Qar@&siu’ 6T

(A) gjevevgi (B) Ijeeg) (C) Ijevagl (D)
ong (E) Qsreiusd gGsmid oG
L SSemet Beoaransseng S

SHTE00TS.

Eogele
§> O

&5, EemioLcem, &sfiLesn
B 2)C
3)D 4) A

SOPETE, HHES, CamulbLSZmT
HA 2)E
3)C 4B

GuES, DSeusmg, S
B 2) A
3C 4) E

LSO EH6T, HMLIEIT, Qesveotnfiyrenflssir
1)C 2)D
JHA 4)B

@i, SOPETE, ek
HE 2) A
3)C 4)B
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44.

45.

46.

47.

48.

49.

If ‘PHYSICS’ is 11+19+2+8+18+24+8
then ‘HISTORY’ is
1) 19+18+8+12+9+2
2) 19+18+7+12+9+3
3) 19+18+7+12+9+2
4) 18+19+7+12+9+2

Direction (45 — 50)

The following diagrams show some
relationship among three items. For
each group of elements there
corresponds one diagram (A) or (B) or
(C) or (D) or (E). Select the diagram
for the questions 45 to 50.

© O
5 Oc

Home, Kitchen, Bathroom

HB 2)C
3)D 4) A
Tamilnadu, Trichy, Coimbatore
HA 2)E
3)C 4)B
Bus, cycle, Car

HB 2)A
3)C 4)E
cats, dogs, pets

1H)C 2)D
3HA 4)B
India, TamilNadu, Srilanka
1HE 2)A
3)C 4)B

www.learnerkey.com


http://doozystudy.blogspot.in/

www.Padasalai.Net

www.learnerkey.com

D’@@'ZY/ STUDY

50. g‘bé]rﬂmmnm Dy, 60T Qyﬂfﬂwﬂ&m S|P&TeT 50. Teachers, male Teachers, Handsome
Speuor AUt eseir male teachers
B 2)A 1)B 2) A
3)E 4)D 3)E 4)D
uflpsom (@fleom erevar. 51 wihmid 52) Direction (51 and 52)
QGiW@&&UUL_@GiTm & (5 G15SmeTLLd, Read the content, sense the direction
Gems e, Ggeflaurs Ui and answer the questions 51 and 52.
ellenLwefl&sab.

51. RO sl iy dlnigl GG Geréd 51, A man starts walking from his home
50 \ff gnmb mLEg Wetremt ey gjerallsy northward, a distance of 50 mts and
45°) @Lg ussurs Hmod Nerert then took a half turn (45°) towards
seoLWlsmer Qgm_rdmmt ereflsd HHCLTE left. In which direction is he walking
Gsagid Hena now?

1) Qz6ir HpsE 2) Qg6 GLmE 1) South east 2) South west
3) Gzn® 3) auLGunE 3) South 4) North west

52, A srsirusurt B-6& Ganélgin C ereruisur 52. If A is to south of B and C is to the
B-5@ d&psdgn @wmnsmed  A-gu east of B, in what direction is C with
Qurmiss C ersHenguilss o semmi ? respect to A?

1) oL Hp&E 2) auL GumE 1) North East 2) North West

3) Qg6ir &G 4) Qzeir CLDE 3) South East 4) South West
suflpenm (afleorm srevor. 53 LMD 54) Direction (53, 54)

aflenLufled o 6o EMETE EUMTSHMS &6l Among the four words, one word can’t
B0 UTT &0 QarGésuu’ Hser be made from the letters of the given
uMiSmssefl o 6T ETUYSGISS6TT6 word. Identify the word.

2 HeurasLLL aflsismns. Y

aumseguilemer CaiEQSH&SaID

53. Advertisement 53. Advertisement
1) tease 2) time 1) tease 2) time
3) driver 4) never 3) driver 4) never

54. Combination 54. Combination
1) notion 2) nation 1) notion 2) nation
3) motion 4) caution 3) motion 4) caution
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55.

56.

4

58.

59.

60.

57.

www.Padasalai.Net

DOOZY STUDY

auflpsmm (efleorr erevar. 55)

oflsmLuflsd o 6Tem TG suUMTSEMS 6T
Q07 em; amsms, Qarhssuu’ HsrTer
UMGemGEafled o 6Ter  TUNSSISSETTE
2_(meur&aUUL (HsTeTg. .17
aumt engullener G50 HESaL.

Newspaper
1) now
3) nose

2) swap
4) pepper

suflpsmm (aSlsorm eTetr. 56—59)

— 6160 GMUIH Sn L L sumEeyLD

x e16arm GBI UG SSOMTSHaLD

+ sT60TM GHUIH Gl SSOTSHALD

= eretT) GO SflSSTsa)n GummsT
QanswrLmsd 56 (P 59  susmTuilsvea
aflerréa e el waflssa).

18 x 6 — 5 =3 eT6aTLIG6T LD
5 2) -5
3) 12 10

(52 =12) x 8 +6—5 sreaTLIG ST L0
1) 40 2)36
3)35 4) 42

16 x (10 - 6) = 1- 8 eT6OTLIG 6T LOGLIL
1) -6 2) 6
3)-8 4)8

SLDEU(HELEITEUDMIET 2 EHTENLOWITET Sn DI
o781 ?

1) 18 x 6 stetrug) 3 2) 2x10 stearug) 20
2) 10 — 6 steoTug 4 4) 16+4 sTaaTLIG) 4

suflpemm (efleorm sTstr. 60 (g6 65)
Qar@&siuL 6T 6UUT G20 (15 &5 61T /
aumsmasst  lopsgissefle e,
uppoasaiLllGis seflldg 2 sTerg.
Issner CaMbEsH\sE

b 2)ec
3)d A
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S8.

59,

60.

Direction (55)

Among the given four words only one
word which can be formed from the
letters of the given word. Identify the
word.

Newspaper
1) now
3) nose

2) swap
4) pepper

Direction (Question 56 — 59)
If ‘-’ means‘+’;

‘x’ means ‘=’ ;

‘+’ means ‘x’ and

‘=" means ‘-’ then answer the
questions 56-59 by converting to
original operators.

The value of 18 x 6 -5 =3 is
S 2)-5
3)12 4) 10

The value of (52 =12) x 8 +6-5 is
1) 40 2) 36
3)35 4) 42

16 x(10-6) = 1- 8 gives

1) -6 2)6

3)-8 48

Which of the following is true?

1)18x6is3
2)10-6is 4

2)2 x 10 s 20
4)16 + 4is 4

Direction (60 — 65)
Choose the odd numeral / word / letter
for the questions 60 to 65

b 2) ¢
3)d 4)f
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61. 1)a 2)b
3)d HAf

62. 1) Banana 2) Orange
3) grapes 4) pomegranate

63. 1) grand father 2) father
3) brother \}) mother

64. 1) 64 2) 25
3) 16 4) 49

65. 1) LMOR 2) KLOR
3) ABDG 4) BCEG
suflpsnm (efleorm eTewr. 66—75)
Qar@&ésiu’ L mreang wimy el sefls
sl Qurmsswrer wrhn el uflsner
G065 [HéE

66. B-ullstr suwenslt Gumeirgy A-uflsir euwg) @)\
LRI, CP6TH QUHLEISERSHES (PETEOTSTS
Aaflsir  euwg B-uflsir  eunwsnslGUTsITD)
eIt LOLMIST@GLD eTeufled MGUTEmSIW A-6T
QLG : &
1) 14 2)16 Vo
312 4) 6 }

67. Y] umesneuuilssr (Lp6BTeTTIT60
@ mumemeus EmLd, (1 LDEneIS LI
Gereormsd  @\(®  UMeMAUSEHD, @\
LUMEMAISHEHSE @enLullsd 6(m LMD
QnsEuramme  CQurss  umameuseflsT
6T6uaT 60165 6M 5.
I}b 2)3
3)4 4) 6

68. 7897653428972459297647  etetTm  eTeuOr
Gzm_fleo 9 eretm  @VESSSmeT
Qam g, 6 am  @NESSMS
(ST ST S Qs memiorL_ 7-seaflsir
6T6u0T 6uuf 18 6M S5
1)2 2)5
34 43
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61.
62.
63.
64.

65.

66.

67.

68.

1)a 2)b

3)d 4)f

1) Banana 2) Orange

3) grapes 4) pomegranate

1) grand father 2) father

3) brother 4) mother

1) 64 2) 25

3) 16 4) 49

1) LMOR 2) KLOR

3) ABDG 4) BCEG

Direction (66 - 75)

Choose the most appropriate option
among the given four options

A is twice as old as B. Three years ago,

A was three times as old as B. The
present age of A is

1) 14 2) 16
3)12 4)6

Two ducks in front of a duck, two
ducks behind a duck and a duck
between two ducks. The total number
of ducks, is

1S 2)3

3)4 4)6

The number of 7’s in the number
series 7897653428972459297647 which
are preceded by 9 and also followed

by 6, is
1)2 2)5
3)4 4)3
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69. Crieuflenawire gLoikgiemeT Lomeuor surs erflsd
sallar @\m (pensrsflfmig 21-ugns
SuisHmisTed  gsuauflamsulis o srar
Lomever euitaserflstT 66vwT 6vuf1Eh M
1) 42 2) 40
3)43 4) 41

70. the day before yesterday was Sunday
eresfle, the day after tomorrow eTsTUS)
1) Thursday 2) Friday
3) Wednesday 4) Tuesday

71 9 +4=369413; 8 + 3 = 248311 erexflev
7+4=
1) 281174 2) 287411
3) 287428 4) 112874

. BTG @eés si@ufiu earaliheL,
BTG @eés sFARL  maraiihE
2 6rem efSHLTSFD
1) 9999 2) 8888
3) 8999 4) 9000

73. epsiT) @levdies sTetuTaseifledr 6T6dor 6uuf1demes
1) 999 2) 900
3)111 4) 990

74. S Erefle SigsmrHeir wewfl Ly Bl
ylser @arm  Gsmd  CrrmasefsT
er6uoT uef1S6m&s
1) 24 2)23
3)12 4) 22

75. A fan always has
1) Switch 2) Current
3) Wire 4) Blades

388/108—14
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69.

70.

71.

72.

73.

74.
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In a row of students, Kavitha is 21"
from either end of the row. The
number of students in the row is

1) 42 2) 40

3)43 4) 41

If the day before yesterday
was Sunday, the day after
tomorrow will be
1) Thursday

3) Wednesday

2) Friday
4) Tuesday

If 9+4 = 369413 and 8+3 = 248311 then
T+4 =

1) 281174
3) 287428

2) 287411
4) 112874

The difference between greatest four
digit number and the smallest four
digit number is
1) 9999
3) 8999

2) 8888
4) 9000

The number of different 3 digit
numbers is
1) 999
3) 111

2) 900
4) 990

The number of times in a day, the tw«
hands of a clock coincide is

1) 24 2)23

3) 12 4) 22

A fan always has

1) Switch 2) Current
3) Wire 4) Blades
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aufilpenm (eflsor eTevor. 76 (pSsed 80 susmir

A upmin B oy fu uLiisenée @ Cw R GBIy 2 serg). 9Cg Lrfwmer @sm_iy C
whmid D-G@  G\mé@ree oy eflmLsst (1, (2), (3), @)-edmig  D-ulemers
GCaimQsH&saLD.

Direction (76- 80 )

There is a relationship between the figures (A) and (B). The same relationship exists

between the figure (C) and one of the options (1), (2), (3), and (4). Choose the correct
option

76.

. 3
I I '

A B C D
(1 @) (3) 4

77. |
& & : ?
A B C
(1) 2) 3)

(&
78.
/o\ [0]{O) ¢
A B & D
(1) +42) 3) 4)
388/108—15
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XD
BORR

(1)

80.
V=N A
A B C R

% /A
(1) 2) 3) 4

auflpsom (MemréssT 81 (pge 85 suenn)
Qar@ssiu L 3 ukiseafldr Qgm i&duns D @mé&@Lomermsd D-uflsneor wrpmieSlenL &sir
(0, @, @) A-Bhs CIEASEES.

Direction (81 - 85)
Select a figure from the answer figures (1), (2), (3) and (4) which would continue the
series (A), (B), (O).

81. N ol i

o)
A B < d
\ o l l
o @) 3 @
388/108—16
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= ~][
aleafraa
am @ § 8
H()
mc m) o N0
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8s.

A B C D
(‘9/ 2) 3) (+)

86. QarE&sILLL LLSEHe 2 6Ter p&GamemTasafls 6T 60T 600 1 567 &
The number of triangles contained in the figure

is

(1) 16 2r10 3)8 412

87. g usmLwisr GGk QeausiCoumrer Hemeast LL S0 SMLOu’ @sTerg). @b -6
UGS SEnLoiLLD eTeur

Two positions of a block are given below. When 1 is at the top, which number will be

at the bottom
2 2
1 3 ¥
g
16 24 35 43
388/108—18
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